0 Adding 3- and 2-Digit Numbers - With Carrying 0
LO: to use column addition
Calculate the answer to the following:

32 +_47 8 8
t 55 4_ t 45
437 79 L

457 304 615

T 5 T 49 T 33

149 805 672 581

LT t g5 L T 47

292 670 662 387

T 34 LI t 75 LY
476 158 379
Tas | T | T2



https://www.regentstudies.com

0 Adding 3- and 2-Digit Numbers - With Carrying 0

LO: to use column addition
iREGENT STUDIES - Calculate the answer to the following:

673 457 304 615

T 3 T 5 T 49 T 33

— 01 —%87 —373 53
149 805 672 581

LT t g5 L t 47

__165 _ 890 _ 714 _ 648
292 670 662 387

T 34 LI t 75 LY

378 752 737 738
476 158 379

LEA: + 4, LY

—577 3 —Z%05

Challenge: Complete the following calculations:

382 147 878

t 55 * 49 t 45

437 796 943
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